
GRID

1.5B22 STEEL DECKING (22GA), 2-SPAN CONT
MIN -TYP

14K6 BAR JOISTS -TYP, SEE PLAN

SEE ARCH FOR INSULATION, ROOF DRAIN
LOCATIONS AND ADDITIONAL ROOFING
INFORMATION -TYP

WIDE FLANGE, SEE PLAN -TYP
15" 18 GA VERTICLIP SLT LONG, OR OTHER BY
LIGHT GAUGE CONTRACTOR, FASTENED TO
ROOF DECK, SUBMIT SHOP DRAWINGS FOR
REVIEW AND APPROVAL -TYP

L2 1/2"x 1 1/2" x 3/16" LLH x CONT DECK
CLOSURE ANGLE -TYP

1" -TYP

1.5B22 STEEL DECKING (22GA), 2-SPAN CONT
MIN -TYP

LIGHT GAUGE METAL DEFLECTION CLIP

LIGHT GAUGE METAL STUD FRAMING
BALLOON FRAMES PAST FLOOR AT 7TH FLR
OFFSET.

TAPERED INSULATION / MEMBRANE /
FINISHES PER ARCH. - TYP.

6"

(2) LAYERS OF 5/8" SHEATHING - SEE ARCH -
TYP.

LIGHT GAUGE BLOCKING AS REQUIRED.

WIDE FLANGE BEAM - SEE PLAN - TYP

DOUBLE ROW HEADED
ANCHOR STUDS PER PLAN

(4) #5 LONG DIAPHRAGM STRUT
W/ 8" HOOK @ BRACE FRAME
SIDE -TYP

DRAG STRUT PER PLAN

4
 1

/
2
"

7th FLOOR ELEV
SEE PLAN

SECTION 3/4"=1'-0S2.03
PP SECTION 3/4"=1'-0S2.03

RR

SECTION 3/4"=1'-0S2.03
QQ

(6) #4 HOOKED DOWELS IN
CAP @ PILASTER -TYP.

(6) #5 VERTS

2
'-
0
" 

-T
Y

P
.

6
" 

-T
Y

P
.

SEE PLAN

TOP AND BOTTOM
REINFORCING, SEE PLAN

#4 "C" BARS TO MATCH
TOP AND BOTTOM BARS

#4 TIES @ 12" O.C. MAX -TYP.

6"Ø CONCRETE-FILLED
PIPE PILES PER PLAN

(4) #5 HOOKED DOWELS
@ EA. PILE INTO CAP

10"

48"

41
2
"

1/4"
TYP.

2" VLI DECKING

LIGHT GAUGE EDGE
ANGLE - TYP. U.N.O.

HSS4X4X1/4" PER PLAN

EDGE OF SLAB BEYOND

3/16" 2"

3/16" 2"
TYP.

EXTERIOR WALL METAL
STUD WALL.

3' 8-9/16"

SECTION 3/4"=1'-0S2.03
SS

GRID

2"

FIRE RATED STEEL BEAM

PROVIDE 1/2" NYLON FILLER
BETWEEN PLATE JOINT

METAL STUD BEYOND.  SPRAY FOAM
INSULATE AROUND COLD STL
PENETRATION -TYP.

1/2" x 5" "L" PLATE

1/4" x 5" GALV "L" PLATE FOR
VISOR ATTACHMENT

C8 CHANNEL
VISOR PER ARCH
AT ROOF.

TAB TO WF
1/4"

(2) 3/4"Ø GALV A490 TC BOLTS

1/4" 3/16" PLATE STIFFENER

6"6"

C8 CHANNEL RETURNS TO
BUILDING @ 15'-0" MAX O.C.

L1 1/2" x L1 1/2" x 3/16" BRACE

@ PLATE OUTRIGGER & 10'-0"
O.C. MAX

L2x2x1/8" STRUT W/ (9) #10

TEK SCREWS SPACED @ 3" O.C.

18"±

1/2"Ø BOLT

6" EDGE
OF DECK

LIGHT GAUGE  EDGE FORM.

1/4" TAB OR DBL ANGLE CONNECTION

W/ (4) 3/4"Ø A325 BOLTS MIN.

5"

DETAIL 3/4"=1'-0S2.03
TT

C8 CHANNEL VISOR PER
ARCH AT ROOF.

3/8" x 5" BENT PLATE

EDGE OF

ROOF 1'-97
8"

GRID

GRID

2
'-
0
"

ROOF EDGE BEAM,
SEE PLAN

COL PER PLAN

CONN. DETAIL @ ROOFTOP VISOR BRACKET

15'-0" MAX TYP, SEE
ARCH FOR SPACING.

1/2" x 5" BENT PLATE

1/2" NYLON PAD

5/16"

5"

3"

SECTION 3/4"=1'-0S2.03
UU

L1 1/2" x L1 1/2" x 3/16" BRACE

BEYOND @ 10'-0" O.C. MAX.

1/2"Ø BOLT

PT 2x6 BLOCKING BELOW
ROOF DECK PLATE PT 2x6 ROOF DECK PLATE SEGMENTS

WITH 8" DRAINAGE GAPS AT 48" O.C.
BUILD UP PLATE AS REQUIRED FOR
LEVEL DECK SURFACE

EPDM ROOF MEMBRANE ADD
ADD'L WEAR STRIP UNDER PLATE

P.T. LEVELING BLOCKING UP TO
ROOF DECK JOIST AS REQUIRED

P.T. DBL 2x10 RIM JOIST

HSS 2" x 2" x 3/16" GALVANIZED STEEL
TUBE GUARDRAIL POST 6'-0" O.C. DRILL
FOR CABLES

GALV. STEEL 1/2" Ø THROUGH
BOLTS WITH WASHER AND NUT
(4) PER MOUNTING PLATE

6" x 6" x 3/8" GALV. STEEL.
MOUNTING PLATE

2" x 2" GALV. HSS STEEL TUBE

GUARDRAIL CAP  W/
INTERNAL SLEEVE.  SEE

ARCH/MANU.

JOIN SECTIONS OF GUARDRAIL AT
CAP WITH INNER SLEEVE AND
COUNTERSUNK FASTENERS

COMPOSITE DECKING W/
HIDDEN FASTENERS

DTT2Z-SDS2.5Z DECK
POST CONNECTOR

JOIST HANGER SEE PLAN

SECTION 3/4"=1'-0S2.03
VV

4
 1

/
2
"

DETAIL 3/4"=1'-0S2.03
XX

GRIDGRID

1ST FLOOR ELEV
SEE PLAN

4
"

6
"

TOP OF LEDGE/
PILASTER, SEE PLAN

TOP OF SHELF
SEE PLAN

TOP OF WALL
SEE PLAN

EXTERIOR GRADE,
SEE CIVIL

TOP OF FTG
SEE PLAN

TOP OF PILE
CAP, SEE PLAN

1 1/2" CLR

(6) #5 HOOK DOWELS TO
PILE CAP BELOW

FACE OF CONC WALL BEYOND

CONC PILASTER

ANCHORS, PER A.B. SCHD

DETAIL 3/4"=1'-0S2.03
YY

DETAIL 3/4"=1'-0S2.03
ZZ

DETAIL 3/4"=1'-0S2.03
WW

GRID

SHEAR TAB PLATE W/ 3/4" Ø BOLTS

@ WF TO COL -TYP UNO, SEE
SCHEDULE FOR LENGTH OF PLATE
AND NUMBER OF BOLTS -TYP

-TYP
1/4

SEE ARCH FOR INSULATION, ROOF DRAIN
LOCATIONS AND ADDITIONAL ROOFING
INFORMATION -TYP

COL, SEE PLAN -TYP

-TYP
1/4

TIE JOIST -TYP @ COLUMNS, SEE PLAN

1.5B22 STEEL DECKING (22GA), 2-SPAN CONT
MIN -TYP

WF, SEE PLAN -TYP

PL 1/2" x 1'-2"x 0'-6 1/2" COLUMN CAP FOR
TIE JOIST BEARING W/ (2) 9/16" Ø SHORT

SLOTTED HOLES FOR (2) 1/2" Ø ERECTION
BOLTS

BOTTOM CHORD STABILIZER
PLATES TYP @ TIE JOISTS

1.5B22 STEEL DECKING (22GA), 2-SPAN CONT
MIN -TYP

14K6 BAR JOISTS, SEE PLAN -TYP

SEE ARCH FOR INSULATION, ROOF DRAIN
LOCATIONS AND ADDITIONAL ROOFING
INFORMATION -TYP

WF, SEE PLAN -TYP

GRID

SLOPESLOPE

SLOPE SLOPE

GRID

14K6 TYP BAR JOISTS, SEE
PLAN FOR SPACING ETC.

BLDG COL ABOVE, SEE PLAN
& COL SCHD.

BLDG COL ABOVE, SEE PLAN
& COL SCHD.

6" LIGHT GAUGE METAL
EXTERIOR WALL.

3" CLR

6" -TYP

CONT FTG CONT. OVER PILE CAP -TYP.

DETAIL 3/4"=1'-0S2.03
AAA

DETAIL 3/4"=1'-0S2.03
BBB

NOTES: SCALE 1/4"=1'-0"

PLAN DETAIL @ AESS FRAME 2ND FLR
S2.03
CCC

GRID

41
2"

1'-0"

11"

8" 2ND FLOOR
T.O.SLAB - SEE PLAN

WF18 EDGE BEAM

WF TRANSFER

3/8" THICK STIFFENER @ WEB

COLUMN BELOW

1" THICK COLUMN CONNECTION
PLATES - TYP. U.N.O.

GRID

1/4" STIFFENER W/ (3) 3/4"Ø BOLTS

1/4" WEB STIFFENER

(4) 3/4"Ø A325 BOLTS - TYP.

6" WIDE X 7-1/2" LONG X 3/8" THICK
TIE PLATE TOP & BOT.

1/8" 3"
TYP.

1/8" 3"

WF COL BEYOND

HIGH ROOF EDGE BEAM

CHANNEL SUPPORT FOR
ELEV MECH, SEE PLAN AND
ELEV MANU FOR SIZES, SEE
ELEV SHOPS FOR ELEV.

LIGHT GAUGE RAFTERS PER
PLAN BEARING ON STL
BEAM.

1.5B22GA

INSULATION, ROOFING ETC.
BY ARCH

HOIST BEAM, BY G.C.

14GA BENT CLIP AT RAFTER

BEARING -TYP. W/ (3) #10 SELF
TAPPING -SELF DRILLING TEK
SCREWS EA. WAY.

-TYP

3/16
-TYP

800T200 EDGE CHANNEL

9

R

MITER INTERIOR FLANGES AND FIELD
WELD AND GRIND SMOOTH ALL
AROUND.  GALV PAINT AREA.

END PLATE WELDED TO BEAM

BRICK FITTED AND
CONTINUOUS PAST STEEL.

PROVIDE 3/8" GAP @
BRICK VERIFY.

W12 EDGE BEAM 

W
1
2
 E

D
G

E
 B

E
A

M
 

EDGE OF SLAB

O
PE

N

AESS

A
E

S
S

7.4

7.6

8

9

RP.9 T' U'

7

COPE AESS BEAM TO CANT AESS
AND FIELD SEAM WELD JOINT.
GALV PAINT AREA.

FULLY MITER AND WELD AESS CONN.

W14
EDGE
BEAM

W
1
4

E
D

G
E

B
E

A
M

A
E

S
S

AESS

CANT. AESS BEAM FRAME W/
1 BAY BACKSPAN.

1'-61
8" VWA

15 DECEMBER 2012

A
P

A
R

T
M

E
N

T
S

6
6

7
 
C

O
N

G
R

E
S

S
 
S

T
R

E
E

T

P
O

R
T

L
A

N
D

,
 
M

A
I
N

E

STRUCTURAL:

Structural Integrity

77 Oak Street

Portland, ME 04101

207-774-4614

SHEET TITLE:

DRAWN BY:

PROJECT No.

CHECKED BY:

REVISIONS:

CONSULTANTS:

SCALE:

DATE:

c
2015  RYAN SENATORE 

ACJ

AS NOTED

ARCHITECTURE

RYAN SENATORE

ARCHITECTURE
565 CONGRESS STREET

PORTLAND, MAINE 04101

207-650-6414

senatorearchitecture.com

MKL

2 NOVEMBER 2015

1503


